

# A Note on the Integrity of Certain Series \*

ZHAO Feng-zhen, WANG Tian-ming

(Dept. of Appl. Math., Dalian University of Technology, Liaoning 116024, China)

**Abstract:** In this paper, using the theory of Pell equation, the authors discuss the integrity of certain series related to generalized Lucas numbers. Under some conditions, the integrity of certain series involving generalized Lucas numbers is completely solved.

**Key words:** Fibonacci numbers; Lucas numbers; series.

**Classification:** AMS(2000) 26C15, 11B39, 42A20/CLC number: O157.1

**Document code:** A     **Article ID:** 1000-341X(2003)01-0028-05

## 1. Introduction

The generalized Fibonacci and Lucas numbers can be defined as follows:

$$U_n^{(d)} = \frac{\alpha^{n+d} - \beta^{n+d}}{\alpha - \beta} \quad \text{and} \quad V_n^{(d)} = \alpha^{n+d} + \beta^{n+d}, \quad (1)$$

where  $\alpha = (p + \sqrt{\Delta})/2$ ,  $\beta = (p - \sqrt{\Delta})/2$ ,  $\Delta = p^2 - 4q$ ,  $p$  and  $q$  are integers with  $p^2 - 4q > 0$ , and  $d$  is a nonnegative integer. Throughout this paper, we assume that  $p > 0$  and  $q \neq 0$ . It is clear that  $U_n^{(0)} = F_n$  and  $V_n^{(0)} = L_n$  when  $p = -q = 1$ , where  $\{F_n\}$  and  $\{L_n\}$  denote the Fibonacci sequence and the Lucas sequence, respectively. From the definitions of  $U_n^{(d)}$  and  $V_n^{(d)}$ , we know that  $\{U_n^{(d)}\}$  and  $\{V_n^{(d)}\}$  satisfy the linear recurrence relation

$$W_n = pW_{n-1} - qW_{n-2}, \quad (n \geq 2).$$

For convenience, we write  $U_n^{(0)} = U_n$  and  $V_n^{(0)} = V_n$ .

Recently, many authors have investigated the integrity of the following series (see [1–5]):

$$S_U(x; p, q) = \sum_{n=0}^{\infty} \frac{U_n}{x^n}, \quad S_V(x; p, q) = \sum_{n=0}^{\infty} \frac{V_n}{x^n}, \quad \text{and} \quad T_k(x) = \sum_{n=0}^{\infty} \frac{V_{kn}}{x^n}, \quad k > 0,$$

---

\*Received date: 2000-11-28

**Biography:** ZHAO Feng-zhen (1967- ), female, Associate Professor.

where  $q = \pm 1$ .

In this paper, we discuss the integrality of the infinite series  $R_V^{(d)}(x) = \sum_{n=0}^{\infty} \frac{V_n^{(d)}}{x^n}$ ,  $d \geq 1$ . The integrities of  $R_V^{(1)}(x)$  ( $q = \pm 1$ ) and  $R_V^{(2)}(x)$  ( $q = 1$ ) will be completely solved.

In what follows, we will make use of the following identity:

$$V_n + pU_n = 2U_{n+1}. \quad (2)$$

## 2. Main results

In this section, we suppose that  $q = \pm 1$ .

We state the main results of this paper.

**Theorem 1** For  $q = \pm 1$ , we have:

(I) If  $q = -1$ , the positive rational values of  $x$  for which  $R_V^{(1)}(x)$  is integral are given by

$$x = \frac{U_{2m+1} + 1}{U_{2m} - p} \quad (m \geq 2).$$

The corresponding values of  $R_V^{(1)}(x)$  are given by

$$R_V^{(1)}\left(\frac{U_{2m+1} + 1}{U_{2m} - p}\right) = U_{2m}, \quad (m \geq 2).$$

(II) If  $q = 1$  and  $p > 2$ , the positive rational values of  $x$  for which  $R_V^{(1)}(x)$  is integral are given by

$$x = \frac{U_{m+1} - 1}{U_m - p}, \quad (m \geq 3).$$

The corresponding values of  $R_V^{(1)}(x)$  are given by

$$R_V^{(1)}\left(\frac{U_{m+1} - 1}{U_m - p}\right) = U_m, \quad (m \geq 3).$$

**Proof** By (1) and the geometric series formula, we have

$$R_V^{(d)}(x) = \frac{x(V_d x - qV_{d-1})}{x^2 - px + q}, \quad (|x| > \max(|\alpha|, |\beta|)).$$

Let  $R_V^{(d)}(x) = \frac{x(V_d x - qV_{d-1})}{x^2 - px + q} = r$ , where  $r$  is an integer. Then we obtain the second-degree equation

$$(r - V_d)x^2 - (pr - qV_{d-1})x + qr = 0. \quad (3)$$

The roots of (3) are  $x = \frac{pr - qV_{d-1} \pm \sqrt{D}}{2(r - V_d)}$ , where  $D = (pr - qV_{d-1})^2 - 4qr(r - V_d)$ .

When  $x$  is rational, the equation

$$D = y^2 \quad (4)$$

must hold, where  $y$  is an integer.

When  $d = 1$ ,  $V_d = p$  and  $V_{d-1} = 2$ . Thus  $D = \Delta r^2 + 4$ , where  $\Delta = p^2 \pm 4$ . It follows from the theory of Pell equation (see [6]) and  $r - p \neq 0$  that the solutions of (4) are given by  $y = V_{2m}$ ,  $r = U_{2m}$  ( $m \geq 2$ ), if  $q = -1$ , and  $y = V_m$ ,  $r = U_m$  ( $m \geq 2$ ), if  $q = 1$ . Hence, the roots of (3) are

$$x = \begin{cases} \frac{pU_{2m} + 2 \pm V_{2m}}{2(U_{2m} - p)}, & (m \geq 2), \text{ if } q = -1, \\ \frac{pU_m - 2 \pm V_m}{2(U_m - p)}, & (m \geq 3), \text{ if } q = 1. \end{cases}$$

We require only the positive root of (3), which is shown to be

$$x = \begin{cases} \frac{pU_{2m} + 2 + V_{2m}}{2(U_{2m} - p)}, & (m \geq 2), \text{ if } q = -1, \\ \frac{pU_m - 2 + V_m}{2(U_m - p)}, & (m \geq 3), \text{ if } q = 1. \end{cases}$$

Owing to (2), we obtain

$$x = \begin{cases} \frac{U_{2m+1} + 1}{U_{2m} - p}, & (m \geq 2), \text{ if } q = -1, \\ \frac{U_{m+1} - 1}{U_m - p}, & (m \geq 3), \text{ if } q = 1. \end{cases}$$

From (1), we can verify that

$$\frac{U_{2m+1} + 1}{U_{2m} - p} > \alpha \quad (q = -1, m \geq 2) \quad \text{and} \quad \frac{U_{m+1} - 1}{U_m - p} > \alpha \quad (q = 1, m \geq 3). \quad \square$$

**Theorem 2** If  $q = 1$  and  $p > 2$ , the positive rational values of  $x$  for which  $R_V^{(2)}(x)$  is integral are given by

$$x = \frac{U_{m+1} - p}{U_m - p^2 + 1}, \quad (m \geq 4).$$

The corresponding values of  $R_V^{(2)}(x)$  are given by

$$R_V^{(2)}\left(\frac{U_{m+1} - p}{U_m - p^2 + 1}\right) = U_m - 1, \quad (m \geq 4).$$

**Proof** The proof of Theorem 2 is similar to that of (I) of Theorem 1 except  $V_2 = p^2 - 2$  and  $D = \Delta(r + 1)^2 + 4$  and omitted here.  $\square$

**Remark** Consider the series  $R_k^{(dk)}(x) = \sum_{n=0}^{\infty} \frac{V_n^{(dk)}}{x^n}$ ,  $k > 0$ . Clearly,  $R_1^{(d)}(x) = R_V^{(d)}(x)$ . For  $R_k^{(k)}(x)$  and  $R_k^{(2k)}(x)$ , we have the following conclusions:

**Theorem 1'** If  $q = -1$  and  $k \geq 0$ , the positive rational values of  $x$  for which  $R_{2k+1}^{(2k+1)}(x)$  is integral are given by

$$x = \frac{U_{(2m+1)(2k+1)} + U_{2k+1}}{U_{2m(2k+1)} - U_{4k+2}}, \quad (m \geq 2).$$

The corresponding values of  $R_{2k+1}^{(2k+1)}(x)$  are given by

$$R_{2k+1}^{(2k+1)}\left(\frac{U_{(2m+1)(2k+1)} + U_{2k+1}}{U_{2m(2k+1)} - U_{4k+2}}\right) = \frac{U_{2m(2k+1)}}{U_{2k+1}}, \quad (m \geq 2).$$

**Theorem 2'** If  $q = -1$  and  $k \geq 1$ , the positive rational values of  $x$  for which  $R_{2k}^{(2k)}(x)$  is integral are given by

$$x = \frac{U_{2k+2mk} - U_{2k}}{U_{2mk} - U_{4k}}, \quad (m \geq 3).$$

The corresponding values of  $R_{2k}^{(2k)}(x)$  are given by

$$R_{2k}^{(2k)}\left(\frac{U_{2k+2mk} - U_{2k}}{U_{2mk} - U_{4k}}\right) = \frac{U_{2mk}}{U_{2k}}, \quad (m \geq 3).$$

**Theorem 3'** If  $q = 1$ ,  $p > 2$ , and  $k \geq 1$ , the positive rational values of  $x$  for which  $R_k^{(k)}(x)$  is integral are given by

$$x = \frac{U_{(m+1)k} - U_k}{U_{mk} - U_{2k}}, \quad (m \geq 3).$$

The corresponding values of  $R_k^{(k)}(x)$  are given by

$$R_k^{(k)}\left(\frac{U_{(m+1)k} - U_k}{U_{mk} - U_{2k}}\right) = \frac{U_{mk}}{U_k}, \quad (m \geq 3).$$

**Theorem 4'** If  $q = -1$  and  $k \geq 1$ , the positive rational values of  $x$  for which  $R_{2k}^{(4k)}(x)$  is integral are given by

$$x = \frac{U_{2k(m+1)} - U_{4k}}{U_{2mk} - V_{2k}^2 U_{2k} + U_{2k}}, \quad (m \geq 4).$$

The corresponding values of  $R_{2k}^{(4k)}(x)$  are given by

$$R_{2k}^{(4k)}\left(\frac{U_{2k(m+1)} - U_{4k}}{U_{2mk} - V_{2k}^2 U_{2k} + U_{2k}}\right) = \frac{U_{2mk}}{U_{2k}} - 1, \quad (m \geq 4).$$

**Theorem 5'** If  $q = 1$ ,  $p > 2$ , and  $k \geq 2$ , the positive rational values of  $x$  for which  $R_k^{(2k)}(x)$  is integral are given by

$$x = \frac{U_{(m+1)k} - U_{2k}}{U_{mk} - V_k^2 U_k + U_k}, \quad (m \geq 4).$$

The corresponding values of  $R_k^{(2k)}(x)$  are given by

$$R_k^{(2k)}\left(\frac{U_{(m+1)k} - U_{2k}}{U_{mk} - V_k^2 U_k + U_k}\right) = \frac{U_{mk}}{U_k} - 1, \quad (m \geq 4).$$

**Proof** Let

$$V_n^{(d)} = \alpha^{nk+dk} + \beta^{nk+dk} = V_{nk}^{(dk)} \quad \text{and} \quad U_n^{(d)} = \frac{\alpha^{nk+dk} - \beta^{nk+dk}}{\alpha^k - \beta^k} = \frac{U_{nk}^{(dk)}}{U_k}. \quad (5)$$

In the meantime, during the proofs of Theorems 1'-5', we will use the identity

$$U_{2t} = U_t V_t. \quad (6)$$

In fact, the sequences  $\{U_n^{(d)}\}$  and  $\{V_n^{(d)}\}$  satisfy the linear recurrence relation

$$W_n = V_k W_{n-1} - q^k W_{n-2}, \quad n \geq 2.$$

From (5) and applying Theorems 1-2 to the sequences  $\{V_n^{(1)}\}$  and  $\{V_n^{(2)}\}$ , and noticing (6), we can obtain the conclusions of Theorems 1'-5'.

## References:

- [1] ANDRÉ-JEANNIN R. *On the integrity of certain infinite series* [J]. The Fibonacci Quarterly, 1998, 36(2): 174-180.
- [2] BRUGIA O, DI PORTO A, FILIPPONI P. *On certain Fibonacci-type sums* [J]. Int. J. Math. Educ. Sci. Technol., 1991, 22(4): 609-613.
- [3] FILIPPONI P, BUCCI M. *On the integrity of certain Fibonacci sums* [J]. The Fibonacci Quarterly, 1994, 32(3): 245-252.
- [4] MELHAM R S, SHANNON A G. *On reciprocal sums of Chebychev related sequences* [J]. The Fibonacci Quarterly, 1995, 33(3): 194-202.
- [5] ZHAO Feng-zhen. *The integrity of some infinite series* [J]. The Fibonacci Quarterly, 2000, 38(5): 420-424.
- [6] LONG C T, JORDAN J H. *A limited arithmetic on simple continued fractions* [J]. The Fibonacci Quarterly, 1967, 5(2): 113-128.

## 关于一些级数取整值问题的注记

赵凤珍, 王天明

(大连理工大学应用数学系, 辽宁 大连 116024)

**摘要:** 利用 Pell 方程的理论, 讨论了与广义 Lucas 数有关的一些级数的取整值问题. 在一定条件下, 解决了一些级数的取整值问题.